
 

m
=

 1
6

 к
г 

F= 72 H 

F – из рисунка 

m
= ? 

m
=

 0
,2

 к
г 

F= 1 H 

F – ? 

m
= 2

 кг 

F – из рисунка 
a=

 ? 

F1=0,5 Н 

F2=
 56

10
 Н 

a=
 2

мс
2  

F – из рисунка 
1

8
0

 Н
 

a=
 0

,0
1

мс
2  

F – ? Показать действие силы на чертеже 

а⃗  

F – из рисунка 

a=
 2

0
м с2

 

F 1
=2

 F
2

 

F 2
=2

0
0

0
 Н

 

𝑭⃗ 
=
𝑭
𝟏

⃗⃗⃗⃗
 
+

 𝑭⃗
 𝟐

 

F= 180 Н 

m
= 6

 кг 

m= 1 кг 

F 
– 

и
з 

р
и

су
н

ка
 

F 
= 

30
Н

 
F – из рисунка 

F1=10 2 кН 

F2=10 2 кН  

m= 60 000 грамм 
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